Notes 7-1


Extended Ratio example:  (pg 461)
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Show how to solve each proportion.

9 b. 4x-5_-26

a. —_——
182 y 3 6
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Show how to solve each proportion.

1 B. -5

A X =
4 6 7 2y+5
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Monique randomly surveyed 30 students from her class and found that 18
had a dog or a cat for a pet.

If there are 870 students in Monique’s school, predict the total number of
students with a dog or a cat.
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In an experiment, students netted butterflies, recorded the number with tags on
their wings, and then released them. The students netted 48 butterflies and 3 of

those had tagged wings.

Predict the number of butterflies that would have tagged wings out of 100 netted.
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Equivalent Proportions

551 Key Concept J

Fill in the blanks.
The following proportions are equivalent.
a_c d a_b d
Symbols  — s =— —== —=T
Y b d a ¢ ¢ a b
28  x 50 755 50 x 755
Example = , = X = , =
50 755 28 x 755 28
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Vocabulary

ratio n. a comparison of two
quantities using division

extended ratios n. ratios that are
used to compare three or more
quantities

proportion n. an equation of the

a

form 5= 3 that states that two

ratios are equal

extremes n. in 2 = %.the numbers
aandd

= 3, the numbers

means n. in
bandc

o|a

cross products n. In the
proportion % =§ where b # 0 and
d # 0, the cross products are ad and
bc. The proportion is true if and
only if the cross products are equal.
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The number of students who participate in sports programs at
Central High School is 520.The total number of students is 1850.

Show how to find the athlete-to-student ratio to the nearest tenth.
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In Logan’s high school, there are 190 teachers and 2650 students.

Show how to find the approximate student-teacher ratio at his school.
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In AEFG, the ratio of the measures of the angles is 5:12:13,and the
perimeter is 90 centimeters.

Show how to find the measures of the angles.
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In a triangle, the ratio of the measures of the sides is 3:3:8 and the
perimeter is 392 inches.

Find the length of the longest side of the triangle.




image6.png
Cross Products Property
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Fill in the blanks.

Words In a proportion, the product of the equals
the product of the

Symbols If when b # 0 and d # 0, then ad =

a_c¢
b d
=i,then4-I5=

Example Ifi
10 15




